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Key Observation
Vertical strip centered at 1

Given anyhorizoutalstripe
centered at C the graph
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Example y fcx contained in horizontal strips
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Hence given anghorizontalstripe centered at L

there exists a vertical strip centered at a

Such that within the vertical strip the graph y tCx
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Important Many possible
vertical strips will work

just lower the width What matters

is that at least one exists
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More Precise Definition of Lim 7 Cx L
x a

Given any
horizontal strip Lcentered at c there

exists a vertical strip centered at a Sadr twat
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Most Precise Definition of ingatcx L

a free choice A horizontal strip a vertical strip
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Given E o there exists 8 o which depends on E

Such that

O Ix al as 17cal Ll L E

T T
x 7 x in vertical strip Cx fc in horizontal

Cta strip



Important E o is a completely Free choice To be
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Remarks

Tis example was relatively straightforward as g tcx

was a straight line IF not it could be much

more challenging Eg Ling 5 1

7 Every limit can property can be rigorously demonstrated

using this E 8 Language

31 If we replace 0C Ix ales with a Cocca 8

we get Lim Hx L
x at



If we replace O Ix al c S with a s ca ca

we get Lim 7 x L
x a

Precise Definition of Lim 7 Cx a
2

Given
any

1470 there exists 870 which depends on M

such that
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Important M 0 is as big as we want hence

Fix grows positively without bound

Reinard
we define Lim 7 x a replacing M o with NCO7C a

and thx M with 7 x N


